LDK

BEARINGS

o0

a1

]E SLEE S

Ik | B @
| i
- TIR#
B2

I —

e
s
B1
WELETERSNRE R
SUE200 %31
2 E KRR (mm) EARERTT (N) =
A 5 =
ng - D |B|C|S |St|Bi|B2]di| ds | cCal|#8F BEE (k)
(in) | (mm) Cr Cor
SUE204 20
47 31 17 12.7 18.3 33.0 9.5 40.8 M4x0.7 4.3 12820 6650 0.18
204-12 | 3/4
SUE205 25
205-13 | 13/16
52 | 344 | 17 | 143 | 19.8 | 354 | 95 | 49.0 | M4x0.7 4 | 14030 | 8050 | 0.21
20514 | 7/8
205-15 | 15/16
205-16 | 1
SUE206 30
206-17 |1-1/16
206-18 | 1-1/8 62 | 381 | 19 | 159 | 222 | 30.8 | 95 | 555 | M4x0.7 | 53 | 19470 |11430| 0.33
206-19 |1-3/16
206-20 | 1-1/4
SUE207 35
207-20 | 1-1/4
207-21 |1-5/16 72 | 429 | 20 | 175 | 254 | 439 | 110 | 640 | M5x0.8 | 58 | 25690 | 15550 | 0.51
207-22 | 1-3/8
207-23 |1-7/16
SUE208 40
208-24 | 1-1/2 80 | 492 | 21 | 19.0 | 302 | 502 | 11.0 | 68.0 | M5x0.8 | 6.2 | 29510 |18140| 0.68
208-25 |1-9/16
SUE209 45
200-26 | 1-5/8
85 | 492 | 22 | 19.0 | 302 | 50.2 | 11.0 | 740 | M5x0.8 | 6.5 | 31850 |20800| 0.78
209-27 [1-11/16
209-28 | 1-3/4
SUE210 50
210-30 | 1-7/8
90 | 516 | 24 | 19.0 | 326 | 526 | 145 | 81.0 | Méx1 7 | 34990 |23700| 0.85
210-31 1-15/19|
€ 210-32 2
[=]
S SUE211 55
12]
= 21132 | 2
s 211-33 | 2-1/16 100 | 556 | 25 | 222 | 334 | 56.6 | 14.5 | 92.0 | Méxi 7.4 | 43340 |29390| 1.16
3 211-34 | 2-1/8
~
] 211-35 | 2-3/16
2 SUE212 60
E 212-36 | 2-1/4
= 212-37 | 2-5/16 110 | 654 | 27 | 254 | 307 | 66.6 | 17.5 | 103.0 |[M8x1.25 | 7.6 | 47680 |33430| 1.59
= 212-38 | 2-3/8
212-39 | 2-7/16

w
=
=
=




LDK

BEARINGS
B1
s
Ca *Hk
E | ds
B g;
olof 4 = | N SLA®E
TJRIE
__L B2
al_
C
HIEEHETBRER
UER200 %351
1 HARSH(mm EAEESA (N) =
R md@ (mm) S
EIES D2 LT | e | (ko)
(in) | (mm) o B c s B0 | =2 & f] e | 01 ds | Ca Cr Cor
UER204 20
47 | 31 | 159|103 | 33 | 95 | 238 | 1.07 | 527 | 40.6 | M4 | 4.05 [ 12820 | 6650 | 0.22
204-12 | 3/4
UER205 25
205-13 | 13/16
205-14 | 7/8 52 | 34.9 | 19 |31 | 354 | 9.5 | 2.38 | 1.07 | 579 | 49 | M4 | 55 [14030 | 8050 | 0.28
205-15 | 15/16
205-16 | 1
UER206 30
206-17 |1-1116
206-18 | 1-1/8 62 | 381 | 222|159 [39.8 | 95 | 318 | 1.65 | 67.7 | 555 | M4 | 55 [19470 [ 11430 | 0.38
206-19 |1-3/16
206-20 | 1-1/4
UER207 35
207-20 | 1-1/4
207-21 [1-5/16 72 | 429 | 238 | 17.5 (439 | 11 | 318|165 | 786 | 64 | M5 | 6.3 |25690 [15550 | 0.56
207-22 | 1-3/8
207-23 [1-7/16
UER208 40
208-24 | 1-1/2 80 | 492 |27.8| 19 [502 | 11 | 318|165 | 866 | 68 | M5 | 7.5 [29510 [18140 | 0.87
208-25 |1-9/16
UER209 45
209-26 | 1-5/8
85 | 492|278 | 19 [502 | 11 | 318|165 |916| 74 | M5 | 7.5 31850 (20800 | 0.95
200-27 [1-11/16
209-28 | 1-3/4
UER210 50
210-30 | 1-7/8
90 | 516 | 28.6 | 19 | 526 | 145 | 3.18 | 241 | 965 | 81 | M6 | 6.8 |34990 (23700 | 1.03
210-31 [1-15/16
210-32 | 2 =
=
UER211 55 °
o=
211-32 2 §
211-33 | 2-1116 100 | 556 | 30.2 | 22.2 | 55.6 | 14.5 | 318 | 2.41 [106.5| 92 | M6 | 7.6 [43340 |29390 | 1.21 z
211-34 | 2-1/8 %
211-35 |2-3/16 g
UER212 60 g
212-36 | 2-1/4 a
212-37 | 2-5/16 110 | 65.1 | 31.8 | 254 | 66.6 | 17.4 | 3.18 | 2.41 | 116.6| 103 | M8 | 8.4 |47680 |33430 | 1.68 2
(=]
212-38 | 2-3/8 =
212-39 | 2-7/16

w
=
N




LDK

BEARINGS
B1
s ¥
Ca *ﬂk
E: [ | ds
B
alo| H Al s sLmEH
TIREE
B2 |
. ¢c *H‘
HIEFHIR TGN
SUER200 %3l
, 2 )
. mdé HAR T (mm) BATEHR (N) -
B3 1D |B|C|S|Bi|Bz|al|f|DB3d|ds|Ca THE REE (o)
SUER204 20
204tz | 3 47 | 31 | 159 | 103 | 33 | 95 | 238 | 1.07 | 527 | 408 | M4 | 405 | 12820 | 6650 | 0.22
SUER205 25
205-13 | 13/16
205-14| 7/8 52 349 | 10 | 134|354 | 05 | 238 | 1.07 | 57.9 | 49 | M4 | 55 | 14030 | 8050 | 0.28
205-15 | 15/16
205-16| 1
SUER206 30
206-17 | 1-1/16
206-18 | 1-1/8 62 | 381 | 222 | 159 | 398 | 95 | 318 | 1.65 | 67.7 | 555 | M4 | 55 | 19470 | 11430 | 0.36
206-19|1-316
206-20 | 1-1/4
SUER207 35
207-20 | 1-1/4
207-21|1-5/16 72 | 429 | 238 | 175 | 439 | 11 | 318 | 165|786 | 64 | M5 | 63 | 25690 | 15550 | 0.56
207-22| 1-3/8
207-23 |1-7116
SUER208 40
208-24 | 1-172 80 4902|278 | 19 |50.2 | 11 | 318 1.65 | 866 | 68 | M5 | 7.5 | 20510 | 18140 | 0.87
208-25|1-9/16
SUER209 5
209-26 | 1-5/8
i e 85 (4902|278 | 19 | 502 | 11 | 318|165 | 016 | 74 | M5 | 75 | 31850 | 20800 | 095
209-28 | 1-3/4
SUER210 50
210-30 | 1-7/8
90 | 516|286 | 19 | 526 | 145 | 318|241 | 965 | 81 | M6 | 6.8 | 34990 | 23700 | 1.03
210-31 [1-15/16]
€ 210-32| 2
8 SUER211 5
% 211-32| 2
= ) P 100 | 556 | 302 | 222 | 556 | 14.5 | 3.8 | 2.41 |1065| 92 | M6 | 7.6 | 43340 | 29300 | 1.21
8 211-34 | 2-1/8
= 211-35 | 2-3/16
= SUER212 60
; 212-36 | 2-1/4
3 212-37 | 2-5/16 110 | 651 | 31.8 | 254 | 66.6 | 17.4 | 3.8 | 2.41 | 116.6| 103 | Ms | 8.4 |47680 | 33430 | 1.68
b= 212-38 | 2-3/8
212-39 | 2.7/16

w
=5
w




LDK

BEARINGS

2-d;

R#&120°

s

[ l sLags

St SUC200G

L3f@ st

suC200
WML TS MS R ERA T

SUC200 SUGC200L3 %35!

& EAR (mm) SEARERT (N)
i B
ns d p|B|cCc | s|s|c s Ca| #&@ | WaE | (k)
(in) | (mm) (mm) |(in.UNF) i Cor
sucgg:-s P R BT S 17 | 127 | 183 | 5 | MO 1azs | 43| 8050 4780 | 021
SUC202 3 T

2029 | e 47| 31 | 17 | 127 | 183 | s 43| o560 4780 | 019

1/4-28
202-10 | 5/8

A M6x1
47 31 17 12.7 18.3 9 1/4-28 4.3

©
g
3
=

1551 4780 0.18

203-11 | 11116
SUC204 20 M6x1
S0iiz | am 47 | 31 17 197 | 188 5 iazg | 43| 12820 6650 0.16
SUC205 25 M6x1
205-13 | 13/16
205-14 | 78 52 | 341 | 17 143 | 198 | 54 1/4-28 | 42 | 14030 8050 0.18
205-15 | 15/16
205-16 | 1
SuUC206 30 M6x1
206-17 | 1-1116
206-18 | 1-1/8 62 | 381 | 19 159 | 222 | 55 1/4-28 | 53 | 19470 11430 | 033
206-19 | 1-3118
206-20 | 1-1/4
suc207 35 M8x1
207-20 | 1-1/4
207-21 | 1-5116 72 | 420 | 20 175 | 254 | 69 5/16-24| 5.8 | 25690 15560 | 0.49
207-22 | 1-3/8
207-23 | 17118
SUC208 40 M8x1
208-24 | 1-112 80 | 402 | 21 19 | 302 8 516-24| 6.2 | 20510 18140 | 0.65
208-25 | 1-9/16
sUC209 45 M8x1
208,260 a0 S 85 | 492 | 22 19 | 302 8 5/16-24| 6.5 | 31850 20800 | 0.71
209-27 [1-11/16
200-28 | 1-3/4
suc210 50 M10x1.25
210-30 | 1-7/8 90 | 516 | 24 19 326 | 10 3824 | 7 34990 23700 | 0.80
210-31 |1-15/16
210-32 | 2
sucza11 55 M10x1.25
21132 | 2
212-33 | 2-1/16 100 | 556 | 25 | 222 | 334 | 10 3/8-24 | 7.4 | 43340 29390 | 1.08
211-34 | 21/8
211-35 | 2-3/16
sucz12 60 M10x1.25
212-36 | 2-1/4
1237 | 25016 110 | 651 | 27 | 254 | 397 | 10 3/8-24 | 76 | 47680 33430 | 151
212-38 | 2-3/8
212-39 | 2-7116

=
=

i
=
£
=
2
o
e
o
@
[
=1
=

@
2
o
=
=




=
5]
&
12]
j=2
£
=
©
[+
2
3
=,
E
=
{=%
=
=

w
=
=
(3]

LDK'

BEARINGS

HEE S
1
; LEE
‘ s SSB200G
B
S$SB200
BIRLTRFOINR TR
SSB200 %71
RS HA R~ (mm) EARGTERA (N)
TR HE
ds k
B _ d D B c s 51 G : Ca P i!;\%fﬁf (kg)
(in) | (mm) (mm) | (in.UNF) Cr L0y
SSB204 20 M6x1
0d.42|| h 47| 25 | 1a 7 18 5 vazs | 12820 6650 | 0.12
§SB205 % VBT
20513 | 13/16
205-14 | 78 52| 27 | 15 | 75 | 195 | 55 11428 | 4 14030 8050 | 0.18
20515 | 15/18
205-16 | 1
556206 30 MGx1
206-17 | 1-1/16
20618 | 1-1/8 62 | 30 | 16 8 2 | 59 11428 | 49 | 10470 1430 | 026
206-19 | 1-3/16
206-20 | 1-114
556207 35 Mex1
207-20 | 1-1/4
207-21 | 1-5/16 72| 32 | 17 | 85 | 235 | 8 5M6-24| 54 | 25690 15550 | 0.43
207-22 | 1-3/8
20793 | 1-716
SSR208 40 MBx1
20824 | 1-172 8o | 34 | 18 9 25 8 5/16-24| 5.8 | 20510 18140 | 0.60
208-25 | 1-9/16
336209 5 MBx1
200-26 | 1-5/8
oo 85 | 36 | 19 | 95 | 265 | 8 516-24| 6.1 | 31850 20800 | 08
200-28 | 1-3/4
SSB210 50 W01 25
210-30 | 1.7/ 9 | 38 | 20 10 28 10 35824 | 65 | 34990 23700 | 0.83
210-31 |1-15/16
21032 | 2
558211 55 M10x1.25
21132 | 2
212-33 | 2-116 100 | 40 | 21 | 105 | 205 | 10 aig-24 | 7 43340 20390 | 1.12
211-34 | 2-1/8
211-35 | 2-316
$5B212 60 M10x1.25
21236 | 2-1/4
212.27 | 2516 1o | a2 | 22 1 31 10 3824 | 7.3 | 47680 33430 | 1.55
212-38 | 2-3/8
21239 | 2-7/16




LDK

BEARINGS

N
T '

‘L‘B 1 ‘| Hu@s
oo {— 1P -

<+

=

d1

| IR
.S_l SSA200G

S§SA200
FHRODENFMISPERE BRI

SSA200 23l

2 HRRF (mm) AT (N)
1Y 3 EF
alE ple|c|s|ei|B|d|cl 95 Jca|l mem | mam | (o)
(in) | (mm) (mm) |(nUNF) < Cori
SSA?;LZ an | D a7 |25 e | 7 | a1 | 135|3ss| 5 MBI
SSA205 25 M6x1
205-13 | 13/16
20514 | 78 s2 | 22 | 15 | 75 | 315 | 135|381 5 1428 4 | 14030 | sos0 | o0.25
205-15 | 15/16
20516 | 1
§SA206 30 Mex1
206-17 | 1-1/16
206.18 | 1-18 62 [238| 16 | 8 |357|159| 445| 6 1428 49 | 19470 | 11430 | 0.39
206-19 | 1-3/16
206-20 | 1-1/4
88A207 35 M8x1
207-20 | 1-1/4
207-21 | 1-5/16 72 | 254 | 17 | 85 389 | 17.5| 556 | 65 sies| 5.4 | 25600 | 15550 | 0.6
207-22 | 1-3/8
207-23 | 1-7/16
SSA208 40 Migx1
208-24 | 1112 80 30.2 18 9 437 | 183 60.3 | 6.5 5116-24| 5.8 29510 18140 0.77
208-25 | 1-9/16
SSA209 % Mext
209-26 | 1-5/8
209-27 |1-11/116 85 30.2 19 9.5 | 43.7 | 183 | 63.5 | 6.5 516-24| 6.1 31850 20800 0.84
209-28 | 1-3/4
SSA210 50 M8x1
210-30 | 1758 9 |302| 20 | 10 [437 | 183 69.9| 65 5624 65 | 34990 | 23700 | 1.02
210-31 |1-15/16
210-32 2
SSA211 55 M10x1.25]
211-32 2
211-33 | 2-1/16 100 325 21 105 | 484 | 20.7 | 76.2 8 3/8-24( 7 43340 29390 1.37
211-34 | 2118
211-35 | 2-3/16
SSA212 60 M10x1.25]
212-36 | 2-1/4
212:57 | 2:6/16
212:38 | 2318
212-39 | 27116

e

1/4-28] 4 12820 6650 0.21

10 | 37.2 | 22 1 531 | 223|842 8 3/8-24| 7.3 47680 33430 1.85

=
=

°
=
£
£
2
e
il
jod
[0]
o
=
=

@
[
Q
°
3




=
=
=
(0]
=}
=
=
©
L}
2
=
=
2
3
3
=
[
=
=
S

L
=
~N

LDK

BEARINGS

c B2 Ca
J Lz i ‘ J
%:ﬂ (1] Bk
 — |
J ™ ™
alo LT - .
= H \I/ = H NP2
: ! TomEH
1
H . SNA200G
1
L3RVEE
SNA200
R DB TR R IR R
SNA200 SNA200L3 %31
i 12 FH AR~ (mm) ERFEHE (N)
& p B8
ug i D|B|Cc|s|Bi|B2|adr]|G ds  [ca| w»um | wawm | (o)
(in) | (mm) (mm) |(in UNF) e o
SNAggi_.‘z 3/4 20 47 34.2 iE 171 | 43.7 13.5| 33.3 5 Mox1 1/4-28| 4.3 12820 6650 0.21
SNAZ05 % M6
20513 | 13/16
20514 | 718 52 | 349| 17 | 175|444 | 135|381 5 1/4-28| 4.2 | 14030 8050 | 025
205-15 | 15/16
20516 | 1
SNA206 30 M6x
206-17 | 1-1/16
206-18 | 1118 62 | 365| 19 | 183|484 | 159 245/ 6 114-28] 53| 19470 11430 | 0.9
206-19 | 1-3/16
20620 | 1-1/4
SNA207 3% M8x1
207-20 | 1-1/4
207-21 | 1-5/16 72 | 376| 20 | 188|511 | 175 556 |65 511624 5.8 | 25690 15550 | 0.6
207-22 | 1318
207-23 | 1-7/16
SNA208 40 MaxT
208-24 | 1-112 80 | 428 | 21 | 214|563 | 183 603 |65 si624 62| 29510 18140 | 0.77
208-25 | 1-9/16
SNA209 %5 MaxT
209-26 | 1-6/8
el 85 | 428 | 22 | 214|563 | 183 63565 51624 6.5 | 31850 20800 | 0.84
209-28 | 1-3/4
SNA210 50 MBx
210-30 | 1-7/8 90 | 492 | 24 | 246|627 | 183 699 |65 se24] 7 | 34990 23700 | 1.02
210-31 [1-15/16
210-32| 2
SNA211 55 Wi 25
21132 | 2
212.33 | 2-1/16 100 |555| 25 | 278|714 | 207 | 762 8 308-24| 7.4 | 43340 20300 | 137
211-34 | 2-1/8
211-35 | 2-3/16
SNA212 60 WI025
212-36 | 2-1/4
212-37 | 2-5/16 110 61.9 27 31 77.8 223 84.2 8 3/8-24| 7.6 47680 33430 1.85
212-38 | 2318
212-39 | 2716




